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SECONDARY SCHOOL EXAMINATION - 2018 (ANNUAL)
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(12 2 W2 a5 fra) {qoita: 80)
[Time: 2 Hrs. 45 Minutes), [Ful Marks: 80]
TONTRR B £ Pder-
Instructions for the eandidates:

. wdemelf wen vz amd wt b f oew 2
Canditates are requred 10 gve their answers i their own words as far as peacrcabie
2 TRA ity i T £ gC A quks Y wve &)
Figures in ihe rght hand marguan ingicale il imarks.
3 uev 3w Tl DurEIE mai- S o e 72
While answer.ng e questons, candhdale shousd adhere (0 the Word md as far as practcable.
¢ FWATT U 2 sl gadt B I 15 BAE BT 8t T e v &1
15 Minutes cf exira tme has been aligited lor the gardidates 1o tead the questons carefully.
5 W UM-YI ¢l @ A IS0 vy~ 4 |
This question paper (s dvalod inte fwo sections - Segtion - A and Section - 8.
6. Y- I T 40 TNYAC gy & Wl per wldarl 81 (rdn ¥ 130 1w Puife &) T
T G FVrd ) oMR -~ Mg 4 R 1) @) gu @) w1 NS Wr 07 B w7 B
R wprw & FrsTAe /v aerl/ &Y/ TR N w7 gew o¥er ¥ gobr svw v &
SRIAT TEWT TR I BT

In Section - A thece are 40 objective type questions which are compuisory, each carrying 1 mark,
Darken the civcie with blue-biack ball pen aganst the correct option on OMR Shee! provided 1o you.
Do not use Whitener Liguid Biado:Nall on OMR Paper; otherwise the resul! will be Inveiid.

7. @o® — ¥ & 201 & wivla g 3 ReE Z g onig e &1 $93 wRw 3w @

¥ 3 O avfle gvr 3 72 2 wew wed B 0 Res orrm B wy) A v ot gv

feo nwnr #
In Section - B. there are short pnswer lype questions of 3 subjects under Sclence. Apant from

this. there are 3 Long Answer Type questions. Each quettion has an alternate option.

R 011 A
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g -3/ SECTION -1
q¥1 / Objective Type Questions)

Prenfamy agfracdn ava 3 9w faem g {4ox1=40)

Select the correct aliernative out of following multi choice questions,

L dm odn & wwte g € gegR @ XA T AR FEET § -

(A) ¥ (B) Fman Prom
(€) W D A TN 31 FRE
The diameter of a circular outline of the reflecting surface of spherical mirvor i
called -
(A) Principal focus (B) Radius of curvature
(C) Principal axis (D) Apenure
2. Ffafag & ¥ 959 3ua ofu @ R gD ¢ B T AR 2 om 22
(A) + ¥em ; (B) - 8m
() 4 16cm WD) -t |

Which onc of the {ollawing is focal length of the convex mirrar whose radius of
curvature is 32em?

(A) +¥em (B) -8cm
(C) +16cm (D) -16¢m
3. R A e Rl @ smada mwnens € @ ow safng @) gl 7w aa?
(A) arafas ok s (B arafie s dnn ¢ '
(C) amueld) e em (M) nmf HR I
What will be the nature of the image of an object. if magoilication of the image is
ncgative?
(A) Real and invered (B) Real and erect
(C) Vinual and erect (D) Virtual und inverted
[212] Page 2 of 16
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5 “"“m*ﬁMMfMﬂﬁmu&mmﬁna\mﬁ_

,(A) TR I ge'tR (B) 3P B Yaps w
0 ﬂﬁmﬁmwtﬂ (D) T A W T
Most of the refraction for the light rays cotering the ¢
(A) Interface of aqueous humour
(€)Y Ouwter wurface of com™icy

ye occurs at -
(B) Interface of cye lens
(D) none of these

mqﬁﬁmatgﬁwfl'uwﬁﬂ,&,a}mﬁ*mmi&ﬂiﬂtmaﬁm
Y A ude v

(A) @

(B) =wht
) =

(D) Aar

When sunlight passes through the aimospherc, which colour of light gets scattered
strongly by the fine particles in air?

(A) Red (B) Orange
(C) Green (D) Bluc
6. mra § Sl weurad) R v 9 amfy & -

(A) 50Hz (B) 60K/

©) 70H: 80 12

In India. the frequency of produced alternating current is -
(A) S50H:z () 60OHz

(C) 70Nz (D) ROH2

3 ﬁrma\'aem&mqwovmwa‘;ihneoﬁ‘nmm't.a\mm&um
M 5T (Least count) & -

(A) 0.5V J(B) D05V
(C) 0.005V (M 00005V

Therc are 20 divisions between OV and 1V on the scule of a voltmeter. The least

count of the voltmeter is -

(A) 0.5V (B) 0.05v

(C) 0005V (D) 0.0005V
[212] Page 3ol 16
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8. % smgm T Rigw um frefoRan 3 7 @ 87

(A) 10°A (B) 10"A
©) 10%A (D) 10°A
Which one of the following is ane micro ampere of electric current?
(A) 10°A (B) 10°A
(C) 10°A (D) 10°A
9. RRM O3 gum B siww g & Yawt A R aw ad &
FA) SR ya A ZRvT e (B) =R g d TR @I
(€) Ty 2 ofted ym (D) = ge A 9E Q@
What is the direction of magnetic field lines inside a bar magnet?
(A) from North to South pole (B} [rom Sonth pole to North pole

(C) {from North pole to Wester pole (D) from South pole to Western pole
10. =¥ R ooy 3 rt= an @ w2 ¢

(A) &= (By o=
{C) T (D) ey
In domestic electric circuil, the colour of neuiral wire is -
(A) Red (By Green
(C) Black (D) Yellow

1. & yfd 3§ P geg R aReda w1 w0 o 87
(A) Rya 9frs (B) fequ wew
(C) A=rfrar (D) TP
In which device, the split ring acts as commutator?
{A) Electnic genceralor (B) Electne motor
(C) Galvanometer (D) Vol weter

12, o R wg7 50 st 3 gy oo # Foefe & @2
(A) mém &t (B) =xFm ot
(C) W= (D) Rfd wat
Which energy does a hydro electric power plant convert into electric energy?
(A) Thermal cnergy (B) Nuclear energy
(C) Solar energy (D) Potential encrgy

[212] by:BSEBResult.In



13,

TR e e i v won § Rem 82

(A) ImRum By ey

(©) R 2w (D) T

In which State, Narors nuclear pOWer reactor is sitbated?

(A) Rajasthan {B)Y Maharashira
(C) Uttar Pradesh

by:BSEBResult.In

(D) Gujarat
4. Prefafem % @ o w gm g o @2
(AY CuO +(B) Ca(OH),
(€} CaCo, (D) Ca
Which one of the following is slzked lime?
(A) Ca0 (B} Ca(ON),
() CaCQ, (D) Ca
15. Zn+ CuSO, — ZnS0O, + Cu
SR & h e st B gare @ 82
(A) wuraq sirm JAB) fremaqd sfdihar
(C) BRerr sfiFm (D) R Atk
Zn + CuS0, = ZnSO, + Cu
The above reaction is an cxampie ofa -
(A) Combination reaction (B) displacement reaction
(C) Duouble displacement reaction (D) decomposition reaction
16. 3 fagy NF Riewa 1@ ) Ta S 2, g9 pH W @ ~-
éA) S (By 7
(C) » D) 10
A solution turns blue litmus paper red: its pHl is likely to be. -
(A) 5 B 7
{C) 8 (D 10
17. &adfae v & uyplde w=a Bafalie d #ta &2
(A) Taa s (B) TR
() fazam (D) gt
Which one of the following is the natural source of Oxalic acid?
(A) Orange (B) Tomato
(C) Vinegar - (D) Tamarind
[212] Duna & af 18 (Tum over



18. Prfafm & ot wa afvs sifEarde aq 2

JAA) Mg (B) Ca
(C) Na (D) K
Which of the following is the most reactive metal?
(A) Mg (B) Ca
(©) Na (D) K

19. Rawr Rem (et o) B o A AR EESEIRT ot (4 @E TERE I 3

arar s gen &2
1Kl 3:2 B) 2:3

-

© 301 (M 1:3

In what ratio, the concentrated Hydrochloric acid and the concentrated Nitric acid

solutions arc present in freshly prepared aqua regia (royal water) solution -

(A) 3:2 (B) 2:3
() 3:14 (D) 1:3
o+H

20. —1;\\ a1 seio W =i # ae il
(o]

(A) B4 (B adffae o=
(C) temiEid L) Ueeergs
/H
Which one of the following is the functional group of —({\ A
(A) Ketone (B} Carboxylic acid =
(C) Alcohol (D) Aldchyde
21. g @ wftaE Y3 Cally &, gadl -
(A) 7 WE 9T MY 2 (B) 8 W& WM e )
(C) 9 UE vitTs WeY ¥ (D) 10 FE FETP A &\
Propance, with the molecular formula C; Hy has -
(A) 7 covalent honds ' (B) 8 covalent bonds
(C) 9 covalent bonds (D) 10 covalent bonds
[212] . Page 6 of 16 B
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. 3 mm*m?\ﬁﬂﬂm*ﬂqu(m)#
K v g (B) wem &,

© wRattn om 8, (D) ¥ A T A
in moving from left 1o right across the period of the madern periodic table, the stomic

size -
(A) increases (B) dccreases
(C) remains unchanged (D) none of these
3. WP arrd TR A Rt oud T &2
AA) 7 (B) ¢
(C) s , D) 18
How many vertical column (Groups) are in modem periodic table?
(A 7 "9
) 15 (I I8

4. F U W qreel A A Al sigedide @ g B 8 adkte gee A
T8 = fam & O Pratalim 3 ot @ o R
(A) & (B) =

(C) (D 9
L

A student adds a few drops of univenal indicator to a dilute solution of sodium
bicarbonate taken in a test tube, which of the following colours would be observed?

(A) Blue (B) Green
(C) Orange (D) Yellow
25. W4 FRANEA Ok @) Gdm A d @ O 5m A & enh 2
tA) drett (B) eh
JO undian Haren (D) a=
When Magnesium ribbon is ignited. the flame produced by it is -
(A) Yellow (B) Bluc
(C) Dazzling white (D) Red .
212] ’ Page 7 of J6 [Torm over
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e o Wle
: - ngr) M

B 8 fam & oF an A B AN FET

2. T e v 4 v o

* !In

1€) FeSO (D AL(SO .
4

A it was
ron najl w ter half an hour, 1
i il was dipped in solution Kept in a test tube. All ﬂt P
n . i
Obscrved tha colour of the solution hus changed. The solution in be wa

(A) Zaso, (B CuSO,
(©) Fes0, (15]] Al,l.Sfihh i
3. Prenfiefrn & 24 W 2 w1 wxivr vameme FTI2 W fm e
(A) Qadey (B) 2nMer
(€) Wrgwi-Birper Dz & o T8 ,
.\\ hich one of the following mstruments is used for wewsuring Blood-Pressure
\) Rarometer (B) Manometer
) Sphygmmmtcr D nonewf diele
28. wﬂastm%ummmmnmmami LOIE & L IRV 4AHR S
T
(A) =3 R o (R.BC) B 9 g ey (W.B.C)
©) @z azy S0y g
Whatt component o Blood prevents bleeding by ¢l formation o pownts of injury?
(A) R‘dm“')"lm“ (B) White Blooyg cells
€) Plateters (D) Lymph
29. Wﬂmﬁnqﬁlﬂhm&féqmmmq, e
(A) Wiz B asn
©) By O) T 4 o
What is Ihc necesyary clemeny o, the thyroig gland o nake thyroxine S
(A) um 8) Chlorin
©) Phosphypy, O} None of these
P —



30, wfmg ay B W W ude B ferty merr
(A) 31 wfeasy

(€ Irpifta;

W 1 wqmm e &1
(B) =1 yiRawr
(D) ¥ A wh

What pant of the rain maintaing posture and equihibrium of the body?
(A) Fore - Brain (B) Mid - Brian

{C) Cercbellum (D) All of these
3l. 9=y gy WENH e § -

(A) W02 & wyner &) vnd o ofy @ Ry
(B) 83 4 913 @ Ry

() T T FEY B ARSI @ fyg
JD) =R A )

Plant hormone *Cytokinins' is helpful for -
(A growth of shoot tip in length

(B) growth of stem

(€ bending the plunt towards light

(DY All of these

32, @IS A NG AR e 4 Qa7

(A) &faw wniq B) & T
{C) TT (D) s
Which one of the following is the mude of reproduction in ) lydra?
(A) Vegetative propagation (B) Sporc formation
(Cr» Buddwing (D) Fission
33, W @t I [N WREE FAw §7
(A) aTuTH (B) vgH
C) YFw (D) FNEWR
Which part of a fluwer produces pollen grains?
(A) Sepals (B} Petals
(C) Stamiens (D) Carpels
[212] Page 9 of 16 [Furn over
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LR R T U
(A) aigmny

(B) Tuivm
O gt (D) Ra afEh
Which of the following is not a part of the female reproductive system in human
being?
(A} Ovary (B) Ulerus
() Vas deferens (D} Oviduet
35. awria Pnmil @ sfaares ey far?
(A} =i 3iay (B) A g
) 3 & Tm (D) 2R Wlle) s
Who propounded the laws of Inheritance?
(A) Chacles Darwin (3} Robert Hooke
(C) J.C.Bose (D) Gregor Johunn Mende!
36, RAdl A 5 TR & g g 2 -
(A} XY AB)Y XX
Wy YY (D) g 3l
Wonien have a pair of Sex Chromosonies «
(A) XY tB] XX
i) Yy (1) All of these
37, He uimm B R €9 o 0w AT TR A UED ud) 9t ventEid ) e WIE -
(A) ®HS @ Wl & f (B) Atk 1w @ Biw

(C) 9 & R @ o g (D) 543 @ i F Ty
A green leaf 15 boiled in Aleohal bufore using Iodine for starch test in order to -

(A) dissolve starch (B) dissolve chlorophyll
((") soften the leaf ' (D) All of the above
38, RlISS T TAHUH DU HGMERT T JWI olar § -
(A} Sx W By 10x W
i0) B5x W (D) 45x mw
The slide is first focussed under Compound Microscope at -
{A) 5x (B) 10x
(C) 25x (D) 45x
[212) Page 10 of 18
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3. 2 e g 3
(A) efngy TR AR W e & -
(C) vagry J(B) T
(D) 3T
(A) dendrite 15 called a -
(C) Axon (B) Synapse
RS LT T S U = fwio ar.m:[:? linpulse
(A) Wmq W
©) ﬁ R0 2 () T 4D R s
TP AG T a0 () WL a68 s
Which of the following constitutes u Food chain®
[g) Grass, wheut and mango (B) Grass, goat and human
© . Cow and elephant (D) Grass. Goat and fish
U8 -3 / SECTION&]Y
R ! Nou < Olyective Type Questions)
WYS wes/ PHYSICS
g-vada g1/ Short Answer Type Question
A5,/ Instructions: Marks:40

¥y W& 1+ & 6 aw 7y oniz vr & gl # R v gyt & e 34

There are short answer type questions form question ne, 1 to 6. Give answer any four

questions oul of six short answer type questions.

| ST @ ueradE @ Fradl 77 i afit 53 R 3 Q <ol o)
Write laws of Reflection of Light and illustrate it with a Ruy diugrum.

2. watsu vd (Eika & ARG 4@ TN Fat ad @ &2 )
Why does the Sun appear Reddish early in the nsoming and in the evening?

[21 2] Page 110! 16 T
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§i 652 STATUD.

3o R B wRvw w1 aracen sna e fre 2V @ @ TH A &0 3
. ; 4 : !
UF 6 TRMT Fer 0@ 1202 wfaTE i (F T S 00 sofray 4 waloR & @)
, o cells of 2V
Draw a schemune diugram of a circuit consisung of a battery of three cells of
| ted in
each, a 5Q resstor, an KN resistor. a 1292 resistor and & plug key, all cunnec
series, -
. . L2
4 R A aa Raa sil @ e e g g & 9 TR fhseg
My {2 @
a
Why ase coils of Electric Toasters snd Elecinic lron made of an alloy rather than
Pure mictal?
5. QORI w1 cwrmer fran (g @)
Wiste the Flenmang's right hamt rule.
6 P OIHF @ ol oA A s am e SR Y * @
Why are we loeking at aleernate sources of enargw?
M gurds oE 7 Leeg Anww er Type question :-
7. tay o owdd R (2+2+2=86)

What 18 electric power?

(b) i 3i H=IRt
Ael B, 5 gims (R) ] Bge wa (DEn « 558 5 S 390 ol 4 #)
Denve M = 'Ry, where H. is the amount of Heat produced by steady current (1)

through i resistor (R) in time 1.
{¢) 6V &% @ nued aR) @ yE 3 nn o Rl S & ol &2

How much energy is given to cach Coulomb of charge passing through a 6V
bartery?

Fuar / OR

[E_QT Pago 12 of 16
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() n‘mﬁmui%mtmmsmﬁ’

Wh y
3t do you meap by scuttering of Light?
(®)  Twre oo C &m §7

Whan iy Spectrum of Light?

(€} =ta 3 e g T €0 Y9y 3 vi-fAelys #1 wren oF |

Explain the dispersion of White ligh passing thieugh a Glass Pnsm,

YW e/ CHEMISTRY

I 9/ Short Answer Type Question
R/ Instructions:

F¥7 et 8 @ 13 G Fg-ING wed & gad Aew) e el @ o 8

There are short answer type Questions form guestion No, 8 tn 13, Give answer any four

questions out of six questions.

8. ameygor PR A v om wsE &7 (@ e AFHT TIEE L 2)
What do you mecan by a Precipitation Reaction? Explain it by giving an example.

9. oI W aTRsafy ¥ ard W maEr w=RE T OAM A @7 @
Why ucids do not show acidic hehaviour in the absence ol Water?

10. ¥ affrmd & (R i fallg -
(i) M & Uy A )
(i) o @ W BRI

212] Page 130F18 [Fum over
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Wrile equations for the reactions of -
@ Iron with Stcam
(M Culcium with Water
1. R= afasy 4 W™ 0 Ao - W
() == ynm (i) FEEEE W
Draw the structure for the following compounds —
(1) Chloropropane {iiy  Propionic neid
Ez. A= @ 4y §ARHYY RA=nw taal "
m Cu iy Cr
Wrie electronic configuration of the fullowing clements.
(i) Ca Gy Cr

13 () & & S g 4l o A EERAT & (++1=2)
What happeas when ietals are burnt in air?
() T A R, W6 Al wd b a dfafbu e &2

What happen when metuls react with water?

fdaada g/ Long Answer Type Question
14. (0 wwadg sl e &2 FIEIY ik WwEIEY |

(2+3=3)
What is @ hamologous series”? Explain with an example,

(by Wi TE A R TEERE st el Qe saEfes SR @ g Tw
i

Write three Chemical propertics of Carbon compounds with suitable Chemical

reactions,
399/ OR
[212] Page 14 ol 16
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@) wamfas,
e g AR 03 “I'l}"l-ﬂ i gt & RANg Cyond (}'MJ
Differentiate Between metal and noi-metal on the basis of their chemical

Properies.

w’“ﬂ'ﬁ“ﬂﬂhﬁmuﬁamqﬁmﬂmnmﬂmﬂl
(W) Zn (i) ke

(b)

iin Ca (v) Mg (v K (i) Na
Amange the metals £iven in the order ol their decreasing reactivity.
M Za Gi) re (i) Ca (iv) Mg (v K (vi) Na

BIOLOGY

3-89 9%1/ Short Answer Type Question
%/ Instruciions:

mrT wem 15 o 20 TF TY-TT ;1 § gt & Rl wre A @ o 2

There are short answer I¥pe questions form question No. 4540 20 Give answer any four
questiosn owt of six short answer Iype quesiions,

15, 79 W spded Fie a1 wfag B Tree ] _ @)
Draw a labelled diageam of the longitudinal section of 4 Nower.
16. afe sa% $% fFw wr 82 @)

How does the Nervous tissue act?
17. w&w urdye T &2 50 el udfawm i amm ad) ()

What is Pholosynthesis? Express it in Chemical equation,
18. Sharza 3u &7 A feesd vow & o & A 9o waear 27 @

What ure Fussils? What do they tell us about the process of evolution?
19. gRaF 3 Juuchn & 7 fw &2 "

What is the role of decomposers in the Ecosystem?

[212) Page 15 of 16 T
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What changes can you make in your habits to become environment = friendly?

W on

21 W WA a5 Bt ARG fas AN 0@ ot - g FRA B g s)
Draw a labelled diagram of human digestive system and explain the digestion process
of Food,

v/ OR
T P ST () # s w frs TE aon g9 A o A H2
Draw the structure of a peuron’ and cx;;lain ils function.
fagre i A wdfea @aft ciarestd,
ST T, %5 W, ,Ugf%a
) A TG C G T
mmmmﬁm
Uz Ural & fBE...
BSEBResult.In
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